Simple job submission in IPP

The method for sending a simple job is an IPP header followed by the binary print job data sent using an HTTP ‘post’.  The response will contain the results of the operation.

The operation consists of 104 static bytes and variable length data representing the URL of the printer and the language of the client.  In the example the variable data comes to 33 bytes. 

A user would probably want to add a job name that requires 9 static bytes and the job name.  The example’s job name uses 9 bytes.  Note that any attribute is encoded as a static attribute syntax, attribute name length and attribute name.  The variable part of an attribute is the count in the value length and the value itself.

The response requires the client to skip over two bytes in the HTTP payload response and check the value of the next 2 bytes.  Those 2 bytes comprise the status code and a value of less than 3 indicates success.  The client would then close the connection to throw away the unnecessary data.  See below on how to find the job id.

Print-Job Operation

8 bytes fixed   (version, command, seq #)

	1
	1
	0
	2
	0
	0
	0
	1


1 byte fixed (operation attribute tag)

	1


28 bytes fixed (charset attribute and value)

	47
	0
	12
	a
	t
	t
	r
	i
	b
	u
	t
	e
	s
	-
	c
	h
	a
	r
	s
	e
	t
	0
	5
	u
	t
	f
	-
	8


30 bytes fixed (language attribute)

	48
	0
	1b
	a
	t
	t
	r
	i
	b
	u
	t
	e
	s
	-
	n
	a
	t
	u
	r
	a
	l
	-
	l
	a
	n
	g
	u
	a
	g
	e


7 bytes variable (language value)

	0
	5
	e
	n
	-
	u
	s


14 bytes fixed (uri attribute)

	45
	0
	b
	p
	r
	i
	n
	t
	e
	r
	-
	u
	r
	i


26 bytes variable (uri value)

	0
	19
	i
	p
	p
	:
	/
	/
	a
	l
	p
	h
	a
	.
	b
	e
	t
	a
	.
	c
	o
	m
	/
	i
	p
	p


1 byte fixed end of attributes tag)

	3


binary print job data goes here

Optional header data for passing a job name

11 bytes fixed (job name attribute

	42
	0
	8
	j
	o
	b
	-
	n
	a
	m
	e


9 bytes variable (job name data

	0
	7
	e
	x
	a
	m
	p
	l
	e


Print-Job Response

2 bytes fixed (version number)

2 bytes status code

Optional (to determine jobID)

To find job-id first skip over the next 5 bytes.  Search for job attributes tag (2) and skip all attributes before that tag.  Next find job-id attribute whose syntax and name is a fixed sequence of bytes.  Finally, save off its value.

The format of the response is a sequence of attributes separated by attribute tags.  There are only 5 values for attribute tags.  Attributes are comprised of a syntax tag followed by two counted octet strings.

The remaining portion of the response consists of multiple instances of attribute encoded as:

Fixed 1 byte (attribyte syntax tag)

Fixed 2 byte length (attribute name length)

Variable length of octetets (attribute name)

Fixed 2 byte length (attribute value length)

Variable length of octets (attribute value)

With attributes separated by:

Fixed 1 byte (tag)  (only present to separate groups of attributes)
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